
Year 6 - Arithmetic 
Assessment

(Age 10-11)



564 + 1,642 = 1

Mark



2

Mark

12 x 7 = 



3

Mark

8 x 1,000 = 



4

Mark

46,000 - 200 = 



5

Mark

407 ÷ 10 = 



6

Mark

 4
 7

 1
 7  = -

 2
 7  +



7

Mark

8 x ___ = 72



8

Mark

6² =



9

Mark

746 x 4 =



10

Mark

 18,962 + 9,999 = 



11

Mark

15.6 x ___ = 1,560



12

Mark

 2
 9

 6
 8  = +1 2



13

Mark

4,536 ÷ 8 =



14

Mark

1.03 x 5 = 



15

Mark

40% of 320 = 



16

Mark

 3
 5  x 310



17

Mark

1,226 x 56 =



18

Mark

 4
 9

 1
 2  = x



19

Mark

2,838 ÷ 33 =



20

Mark

6,438 x 27 =


